C:h Vertical Division with aHelper Grid Name:
Solve each problem. Answers

1) 2) 3)

3[2835 02[644 36[4896 -

4) 5) 6)
41967 916609 612147 8.

7) 8) 9)

538120 84|4704 4[92

1-9 [89|78|67]56|44[33[22]11] 0 |
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Vertical Division with aHelper Grid Name: Answer Key
Solve each problem. Answers
1) 945 2) 7 3) 136 945
32835 92[644 36[4896
0 0 0 7
28 64 48
27 9 E 136
13 644 129 241 13
12 644 108
15 0 216 73413
15 216
0 0 35715
153r11
9 24113 5) 73413 6) 35715
4967 9(6609 62147 56
8 0 0
16 66 21 23
16 63 18
07 30 34
4 27 30
3 39 47
36 42
3 5
7) 153r1l 8) 56 9 23
53[8120 84[4704 4fo2
0 0 8
81 47 12
53 0 12
282 470 0
265 420
170 504
159 504
11 0
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Vertical Division with aHelper Grid Name:
Solve each problem. Answers
241 r3 945 734 r3
357 r5 136 7 1
153 r11 23 56
1) 2) 3 g
312835 921644 36(4896 3.
4,
5,
6.
7.
8.
4) 5) 6)
4967 916609 62147 .
7) 8) 9)
53(8120 844704 4[92
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